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INSTRUCTIONS TO CANDIDATES

1. Immediately after the commencement of the Examination, you should check that this
Booklet does not have any unprinted or torn or missing pages or items, etc. If any
of the above defects is found, get it replaced by a Complete Question Booklet of the
available series.

2. Write clearly the Question Booklet Version Code A, B, C, D or E in the appropriate
space provided for the purpose, in the OMR Answer Sheet.

3. Enter the name of the Subject, Reg. No., Question Booklet Version Code and
affix Signature on the OMR sheet. As the answer sheets are designed to suit the
Optical Mark Reader (OMR) system, special care should be taken to fill those items
accurately.

4. This Question Booklet contains 60 questions, of one mark each. All questions must
be attempted. Each question contains four answers, among them one correct answer
should be selected and shade the corresponding option in the OMR sheet.

5. All the answers should be marked only on the OMR sheet provided and only with a
black or blue ink ball point pen. If more than one circle is shaded / wrongly. shaded /
half shaded for a given question no marks will be awarded.

6. Questions (Except Q. No. 42 to 60) are in both English and Kannada. If any confusion
arises in the Kannada version, please refer to the English version of the questions.

7. Immediately after the final bell indicating the closure of the examination, stop making
any further markings in the OMR Answer Sheet. Be seated till the OMR Answer Sheet
is collected. After handing over the OMR Answer Sheet to the Invigilator you may
leave the examination hall. '
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Answer all questions. Each question carries one mark. (1x60=60)
AR TINYNR K0ZOR. B BT 20w 0T,

1. A can complete the work in 10 days,' B can complete the same work in
12 days and C can complete the same work in 15 days. In how many days
work can be completed when A, B and C work together ?
20T 6@:3533% FoearriePRe A 10 AINTSY, B 12 O3NT=) 0= C
15 O[NIRY, BRTBIEROBT RT3V 2373 FOR WRRWT &), DINTGY, FORBIY
TPEIFRAVFLIOTD ?

a) 4 days b) 5 days
c) 6 days ~d) 7days

2. A and B working together can co:mplete the work in 20 days and B alone can
complete the work in 25 days, then A can complete the work alone in

A =033 B Wy womd 3URERY 20 OINTY, FprrreemEcs B8y B SR,

BORBR), 25 DINYE, TpearRPATT, A wide ORI, OBNYE,
TP RPROTI). '

a) 50 days b) 75 days

c) 100 days d) 125 days

3. Least common factor of 188 and 52
188 =020 52 T ©.%0.. :
a) 2 - b) O
o) 4 ~de

4. HCF of 102, 150 and 60
102, 150 3532 60 3 &.70.9.
a) 4 | b) 5
c) 2 o d) 6
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5. X take Rs. 50,000 loan from bank for 6 months at 10% interest rate. Find
amount to be repaid.

X 10% 28 BTBQ, &3 0N 13,05°00T Se. 50,000 mwEs), ScoEnoEd,
ST ToRERLTIT BRTTRY, ?

~a) 52,500 b) 55,200
c) 2,500 . d) 5,000

6. Rahul gives Rs. 1,000 loan to his friend at interest rate of 15% for 2 years
compounded annually. Find the compound interest.

TR BF %3031 15% W BOBQ, 2 TR 500 [T O, T, WRODY,
dr. 1,000 70 Je@izT. 238, WRODTY, FOBOZRRWD.

a) 322.5 b) 300.5

c) 355.6 d) 555.2

7. A and B start a business in which A’s investment is Rs. 20,000 and
B’s investment is Rs.15,000. If A’s profit is Rs. 4,000, then what is B’s profit ?

A 5333 B @ BEa08), $00gR0zT, A S Br@s 8e. 20,000 358 B 3 B8
ge. 15,000. A & oot Se. 4,000 &30, B 3 coam), ?
a) Rs. 3,600 b) Rs. 2,600
c) Rs. 6,000 d) Rs. 3,000

8. Investments of P, Q and R are in the ratio of 1 : 2 : 3 for 4 months, 5 months
and 6 months respectively and total profit is Rs. 56,000, then individual share of
P:Q:Ris
P, Q &3 R < @e&Fedn 8,230m0N 4 Sonsd, 5 donsh 3030 6 donert 1:2: 3
RTBHEYTOBT T2 23, ool Tr. 56,000 e;mc%d P:Q:R 303z I3

OTBRRD, ?
a)2:5:9 b) 4:5:9
c)4:10:6 d2:10:9

SPACE FOR ROUGH WORK
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9. A boat takes 19 hours for travelling downstream from point A to point B and

10.

11.

12.

coming back to a point C which is at midway between A and B. If the velocity
of the stream is 4 km/hr and the speed of the boat in still water is 14 km/hr,
what is the distance between point A and point B ?

2,003 TReE3 A 20T0RR0T B 2003007 B)z00ms Sierialanl) Bren, 3033 A B3
2083, @30 C 20707 &0QTONED utd) 19 ROENTR) IRTBRWIE. B,moxw et
4 §. Q¢ /R0t Y VFY DO, Weesdodd FBert 14 3. doe. /10w BNTIT, A 3082
B 20701 ST ©03THRY, ?

a) 152 km b) 155 km

c) 166 km d) 180 km

A boat takes 48 min. to cover 12 km against the stream, if the speed of stream
is 2 km/hr, then what will be the speed of the boat in still water ?

BBHT AT, 12 3LUREACEIT’ 5,080 Tresd 48 ATENTR) SNCBRWES.
BB Beray) 2 3. <0¢. [MOoEd BNTT, ZL QeOTQ, Tpeeodd Wert ), ?

a) 12 km/hr b) 15 km/hr

c) 17 km/hr d) 20 km/hr

A boy goes to school by bus and reaches in 30 min. Distance between school
and his home is 12 km, then speed in miles/sec

22) TORON W'Y, oS BROTS w02 30 AWRNTY, BLOPTS. FoSoDd
0B T SRIDNT €083 12 8.80¢. BNT. TomTT T, & FBoR B wony Wen

DT, ?
a) 5m/s b) 6.66 m/s
c) 6 m/s d) 5.8 m/s

A bus travels at a speed of 15 km/hr for 30 min. and 25 km/hr for another
30 min. Find the average speed of bus.

2,083 WA* 30 VAT 500 15 8.80¢. /Rotd Benw, 0B 3=, 30 AARNY Fov
25 8.20¢. /Notd BenTQ, T, 03ReSRITLI. WATS FTIRO BEN[Y, FOBIEBOWD.

a) 15 km/hr b) 25 km/hr

c) 20 km/hr d) 18 km/hr

SPACE FOR ROUGH WORK
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A water tank has two taps A and B. A fills four buckets in 24 minutes, B fills
8 buckets in 1 hour. If all the taps are opened together, a full tank is emptied
in 2 hours. If a bucket can hold 5 liters of water, what is the capacity of the
tank ?

2,003 Q0T £33, 085 TR SO A 039 B 3. S A 0300 24 00RNTY, Toen
W NT, 2000833, IQ B 0320 2,070 R0E3eddY, 20830 WIFRTR), B00L0TT. THO
ST miﬁ 3B030RTO0T €59,08° 2 RoWNY Lo 8300 BB, 0T WIS
5 Qe3T® @eda’g{ BHBODWTITI, TMTT ésaéoses mmqﬁés‘ @a’% ?

a) 200L b) 500L
c) 150L d) 180L

15 taps can fill a tank in 36 minutes. How many taps will be required to fill the
tank in one hour ? '

36 QROTNRTE, 2,07 £33, 07 5, 2020 15 I, s 23680, TMOTT 2,083 NoE3030Y,
€39, 05° ey, BO0E0 D), SQNY N DTS ?

a) 20 b) 9

c) 8 d) 10

4 kg of rice at Rs. 5/kg is mixed with 8 kg of rice at Rs. 6 /kg. Find the average
price of mixture.

4 3.23. 30D, 5 TR. B8 8.28. R0 8 3. 23. WIOHR), 6 . B8 .28 R 0B

BRBOONT. Q03,697 FTIRO IS0, FOBOLROWO.
a) 5/kg b) 6/kg
c) 5.66/kg d) 6.66/kg

If Saurabh is as much elder than Shyam as he is younger to Suresh and sum
of the ages of Shyam and Suresh is 46 years, then what will be the age of
Saurabh after five years ?

AT 20,55° 0B LOCITNG) 0,7 BT N0G $DODTNCRT. T, 3 =R
ROTED® 2:830, 35000 46 TR, TNV 0T BRFNY S0IT FPTYS WORY,
QTWNTIZTS 2

a) 27 b) 26 c) 25 d) 28

SPACE FOR ROUGH WORK
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17. The average age of a family of five members is 24 year. If the present age of
the youngest member is 8 year, what was the average age of the family at the
time of birth of youngest member ?

""CS"N" T BOEV0WT ITXO wQ'iDNJ 24 JRE. 3OO "N"C)’n) RO ] wOZiJNO
8 wwrmﬂcsd 3OO TR, 3 53&335 :smojadc‘) BOLDOWT "‘Ua,o@ wojano eDmD ‘7
a) 16 years b) 20 years
c) 28 years d) 30 years

Directions (18 and 19) : What should come in place of question mark (?) in
the following number series ?

QTerBRAT (18 3022 19) 1 397 3Ry B0s0, A0, BTFFS UE (?) A0
R, 2005 F0sd, 0o, T

18. 16, 32, 35, 140, 145, 870, 877, ?

a) 7016 b) 885 c) 5020 d) 6018
19. 5, 5, 15, 75, 525, 4725, ?

a) 51795 b) 50135

c) 51025 d) 51975

20. From a group of 7 men and 6 women, five persons are to be selected to form
a committee so that at least 3 men are there on the committee. In how many
ways can it be done ?

7 RSO BB 6 Ro&P0DT RH0LNOT, 5 BT, B3, HPB FR0STY, TURIER,
ariode FS0HE, AT 3 WA TR, BT, FF), 030D, HRBIBIRD 2
a) 564 b) 645 c) 735 d) 756

21. Abag contains 3 green, 5 black and 4 brown balls. 3 balls are drawn randomly.
What is the probability that balls drawn contain different colours of balls ?
20T Weory) 3 T[RATY, 5 ﬁ@ SO0 4 BOWD wsad zéozsamfm TBROQTIBT. T
WORONYRY, NG, wsmﬂ 37?033@371035" é’ﬁoﬁomd zéocsor{eéo e‘De‘DzS WEINY
WOTNIRY wér'{fao@daw 0003 2 2
a) 11/7 b) 2/11 c) 11/3 d) 3/11

SPACE FOR ROUGH WORK




NP —

22,

23.

24,

25.

26.

521 | 8- LT

A man sell an item with a discount of 15% to his customers and still gains 10%.
Find the MP of an item which cost Rs. 320.

2.2 &8 M,TFON 15% 00IROWSZRODT 2,000 FRTY WRTVTS =B asR,
10% ©oyimsy B30T, TH. 320 BHTOT [RYDS BRTOTH, LS,
FOTI&EONWD. : '
a) 414 b) 441 c) 411 d) 141

By selling 8 articles, a tradesman makes a loss equal to the cost price of
4 articles. Find loss%.

20 3,0 8 eﬁmj@;@i RRTOE BT 4 TRONG as?,gp WSH BRSO 55’;@3;*
ORPRROBS. BesTED SHTI), TOTIRBOWD.

a) 25% b) 100/3%

c) 50% d) None of these

4 boys and 3 girls spent Rs. 120 on the average, of which the boys spent
Rs. 150 on the average. Then the average amount spent by the girls is

9L TOTTTD 3308 sTH RN [ooR0 . 120 23 WRATD). BTTY,, TOTWONTI
AOIRO TR. 150 3%, BRET),, TMWTT TITWINCIOTI TWRAT FTHFO SBR 2

a) Rs. 80 b) Rs. 60
c) Rs. 90 d) Rs. 100

The average of 8 numbers is 27. If each of the numbers is multiplied by 8, find
the average of new set of numbers. \
8 Xos3,Ne FTIRO 27 SNT3. T, 8030t B0s30dTY, 8 00T NOLIATT, TR FO NS
oS FTRO @a’% ?

a) 1128 b) 938 c) 316 d) 216

42% of a number is 2457. What is the number ?

20T 7309323033 42% 2457 <0, 7309323 CIRRTO 2
a) 5750 b) 5800
c) 5825 d) 5850

SPACE FOR ROUGH WORK
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27. The difference between 54% of a number and 26% of the same number is

28.

29.

22526. What is 66% of that number ?

20T W03, 030 54% WY & F055,030 26% IR TR 22526 SNT3. &5 F083, 030
66% ebz% ?

a) 53097 b) 48372 c) 51218 d) 49124

In a certain codé, “ISSUE” is written as “341145”, in the same code what will
be the code for “DATES” ?

QFH, BRI “ISSUE” &) “341145” 0w wB00wNE, & ERelIY,
“DATES” e, ert 23030eemog 2

a) 4567 b) 340045 c) 4120519 d) 7600

In a certain code ‘MISSIONS’ is written as ‘MSIISNOS’. How is ‘ONLINE’
written in that code ? _
0FH, 3ReRIY, ‘MISSIONS’ &5y ‘MSIISNOS’ 2083 W3NG, & 3ReRTY,

ONLINE’ 53, Bert 2803000m583 2
a) OLNNIE b) ONILEN c) NOILEN  d) LNOENI

Directions (30 and 31) : In each of the following questions, select the related word
from the given alternatives.

QBerINNd (30 =0Z) 31) 1 FYNT T33P0 F,INTY, JeRTOT TSI ODONPOT

TOWORRT TEBIY, e:%ofnx5 =RB.

30. Smoke : Pollution : : War : ?
a) Victory b) Peace c) Treaty d) Destruction
d@ﬁ:ﬁﬁ@ﬁzs::m%:?
a) reowRy) b) 008 C) wOTW d) O3

31. Book : Publisher : : Film: ?
a) Writer b) Editor c) Director d) Producer
VT : B,FJFD : 1 WOIUS, : ?
a) wdmMNT b) Zozwms c) JTBesr3T d) J&FTT

SPACE FOR ROUGH WORK
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33.

34.

35.

36.

37.

521 -10- T

B2CD. . BCD4, B5CD, BC6D

a) B2C2D b) BC3D ¢) B2C3D d) BCD?
FAG, GAF, HAI, 1AH, | |
a) JAK b) HAL ¢) HAK d) JAI

A and B are married couple. X and Y are brothers. X is the brother of A. How
is Y relatedto B 7
a) Brother-in-law b) Brother c) Son-in-law  d) Cousin

A T08) B Q55088 ©omansh. X @080 Y 3Xeemtcd. X &0 A o 3xeems. Y 030
B 1 Ter} 02005325000 rodoéx.
a) o b) XZeexd C) 990 d) 3Z0eTT Fowod

Pointing to a boy, Meena says, — “He is the son of my grandfather’s only son”.
How is the boy’s mother related to Meena ?

a) Mother b) Aunt

c) Sister d) Data inadequate

%) TOTINIRY, BRC0R, ETD TehFTY, 'wE IF, 39BS 2)Fe Bons Ton.”
&5 TBONT F20R0IN Q0T LTWERODN Tert BOLOFTITE 2 ‘

a) 3HOW b) 5=y :

C) ITeO d) Te08 SFpeermING

In a class consisting of 50 students, A ranked 12! from the top and his friend
B ranked 26™ from the bottom. How many students ranked between A and B ?
50 053, HFNFEY WHROBTOT BCNSODY,, A R0ed0T 12 Je 3,03708m3), 8082
BT F &8 B 88N0053 26 Se m@&d&i BRI, A 23089 B T35 ), 073, HFNEL
RS BWEOWY ?

a) 13 b) 12 c) 25 d) 38

If you are the 25" person in a queue from one end and 36" from the other
end, what is the total number of persons in the queue ?

QY 2070 BHOWOT FTH BITY 25T ¢ T3 B aR,00D B0HOWT 36
R,303RNTT, ATO MO, BT 2830, 3T BNT KO3, T, ?

a) 60 b) 63 c) 65 d) 66
SPACE FOR ROUGH WORK '
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38. A man walking towards north, after walking 100 m turns right and walk 75 m.
Again he turns right and walk 100 m and last movement he turns left and walk
25 m. Now which direction he is walking ?
a) West b) East
¢) North | d) South
) B8 GUBTY IWeIET), 100 0ee3T” WD, WOF 3TN 75 Q0ewT 3
SEOITYS. I :BRTY WE 88N 100 0830 SHOSNTS. AV 2B 33oN
25 Q0ee30° JTOI0TYS. 1, WO Oees Q3 SWoXSTIS ?

a) Wdg b) e
C) VST d) diw

39. Raju goes to school by bus, the bus goes straight 5 km, then turns left and
moves 8 km, at last it takes right turn and moves 2 km to reach school. Distance
between school and Raju’s home is
D% WAV, ToSN BRI, Wa* JeTwoN 5 8.80¢. BeeN, J0BT BE 3TN
8 8. &o¢. TBREMZT. AT WO STON 2 8. . VRN TSN FLOFYBE. Fo& Y
09230 &30 ROI0N ISBOVST BRT QT ?

a) 15 km b) 8.5 km
c) 12 km d) 7 km

40. If the difference between two numbers is 15 and product of the numbers is
216. The numbers are

200 e TR BosZNY ST [z % 15 =08 B3 NI, Moesamen $Oz03
216 sNTT, © Boadneh oSy ?

a) 23and 14 b) 26 and 15

c) 28 and 19 d) 24 and 15

41. How many numbers from 1 to 1000 are both perfect square and cube ?
1 00z 1000 BST7 7)), Bosd Nsb WA 302 PIevoNS ?

a) 6 b) 3 c) 8 d) 5

SPACE FOR ROUGH WORK
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Directions (42 and 43) : Choose an appropriate word from the options to suitabl
fill the blank in the sentence below so that the sentence makes sense, botl
grammatically and contextually.

42. | asked but nobody had seen my wallet.
a) aside b) any
¢) around d) about
43. We read at least half of Shakespeare’s comedies by the end of
this year.
a) will be
b) will have
c) will

d) will have been

Directions (44 and 45) : Fill in the blanks with the suitable preposition.

44. Our life promises a lot pleasure and we must learn to enjoy it.
a) with b) for
c) of d) at
45. He travelled all the world when he was eighty year old.
a) in b) over
c) with d) of

Directions (46 and 47) : The following sentence has been split into four
segments. Identify the segment that contains a grammatical error.

46. He used to reply/that the only place/for which he went/was the town library.
a) was the town library
b) for which he went
c) He used to reply
d) that the only place

SPACE FOR ROUGH WORK
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47. During an earthquake, /it is advised to take/cover above a table/to save your

life.
a) cover above a table b) During an earthquake
c) it is advised to take d) to save your life

Directions (48 and 49) : Select the most appropriate meaning of the given idiom.

48. Like a cakewalk.

a) Smooth surface b) Pleasant experience
c) Easy task d) Active

49. A green horn
a) Uneducated person b) Inexperienced person
c) Clever person d) Skilled person

Directions (50 and 51) : Select the option that can be used as a one-word
substitute for the given group of words.

50. A shortened version of a larger work

a) Summary b) Precise

c) Shorts d) Abridgement
51. The man supervising the exam had a huge moustache

a) Examiner b) Curator

c) Controller d) Invigilator

52. In the given sentence the underlined word may have been incorrectly spelt.
Identify the option that rectifies the spelling. If there is no error in spelling,
select No error.

Getting a compliment from her husband was a rare occurrance in Rashmila’s

life.
a) occurrence b) ocurrance
C) no error d) None of the above

SPACE FOR ROUGH WORK
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Select the most appropriate synonym of the given word.
“Announce”

a) Denounce b) Secret

¢) Hide d) Advertise

Select the most appropriate antonym of the given word.

“Hospitality”
a) Complaint b) Cordiality
c) Coldness d) Wrathful

Select the correct active form of the given sentence.

Has the villa been occupied by them ?
a) Did they occupied the villa ?

b) Had they occupied the villa ?

¢) Have they occupied the villa ?

d) Do they occupied the villa ?

Select the correct indirect form of the given sentence.
She said, “l am in no mood to work now.”

a) She said that she has been in no mood to work then
b) She said that she was in no mood to work now

c) She said that she was in no mood to work then

d) She said that she has been in no mood to work now

Select the correct direct form of the given sentence.
Shyam asked me how | had persuaded his sister.

a) “How are you persuading my sister ?” Shyam asked me.

b) “How did you persuaded my sister ?” Shyam asked me.
c) “How did you persuade my sister ?” Shyam asked me.

d) “How have you persuade my sister ?” Shyam asked me.

ACAR DA DO

SPACE FOR ROUGH WORK
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Directions (58 to 60) :In the following passage some words have been deleted.
Fill in the blanks with the heip of the alternatives given. Select the most appropriate
option for each number.

The modern-day student is extremely 1 with technology. They do
read quite a bit because of social media. While their writing skills may not be top
notch, they do write, courtesy 2 affinity to various platforms on the
internet. However, one skill that been 3 affected is listening skills.

They are extremely poor active listeners. If this issue is not addressed, what we
may be heading to in the future is a huge chunk of people across the globe, with
poor skills of listening and a huge number of passive listeners. Researchers say
that listening is the prime ingredient for empathy and the world will be in extreme
poverty in terms of number of empathizers on the pianet.

58. Select the most appropriate option to fill in blank number 1.
a) hindered
b) disconnected
c) dreary
d) savvy

59. Select the most appropriate option to fill in blank number 2.
a) their
b) they’re
c) dare
d) there

60. Select the most appropriate option to fill in blank number 3.
a) thoroughly b) through
c) holistically d) daily

SPACE FOR ROUGH WORK



